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Fractions    

Name - _ _ _ _ _ _ _ _                                         Start time - _ _ : _ _            End time - _ _ : _ _ 

Reduce each fraction to its lowest terms.

a)
36 = _________

b)
3048 = _________

c)
622 = _________

d)
535 = _________

e)
3256 = _________

f)
981 = _________

a)
714 = _________

b)
1840 = _________

c)
1539 = _________

d)
954 = _________

e)
4044 = _________

f)
69 = _________

Word problems :

1. Keith planted 
56 rows of beans and 

29 rows of carrots in a garden. 

In total, how many rows of vegetables did Keith plant? 

2. Tim picked 
13 of a bucket of pears, and Melanie picked

1112 of a 

bucket of pears. How many buckets total did they pick? 

3. Tom did 
710 of a load of laundry on Friday and 

29 of a load of 

laundry on Monday. What fraction of laundry did Tom do in 

total? 
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